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lll Semester B.Com. Examination, March/April 2022
(CBCS) (Repeaters) (2015-16 and Onwards)
COMMERCE
Paper — 3.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written completely either in Kannada
or in English.

SECTION - A
NP - D
1. Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)

a) What is working capital ?
TDROINT WOTP N0TTERD ?

b) What is interim dividend ?
053,080 oLIR0B 0BT ?

c) Give the meaning of finance.
BEITRO BT TP, DeRO.

d) What is combined leverage ?
0L ﬁaz Q0TI ?

e) What is capital structure ?
WORY TW HOTTERD ?

f) What is accept and reject criteria in NPV ?
NPV odraezzéobdgt zga;"i.ra@ﬁ%a’ ==Y édmé@‘-“wd RNTTOB DOTTERD ?

g) What is profitability index ?
RITIORBICT) B3 NOTTERD ?

SECTON - B
NN -V

Answer any three questions. Each question carries six marks. (3x6=18)
2. Differentiate between cash dividend and stock dividend.

BNTO GRYIOB TIBY WF* TR OBNG FI)ANTTI, SPR0.

P.T.O.
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3. Mention the functions of financial management.
BT VB BEBOD FHOF NP, TROR.

O O

4. Acompany has sales of T 2,00,000, variable cost 3 70,000, fixed costX 1,00,000

and interest charges ¥ 3,668.

Calculate :

a) Operating leverage

b) Financial leverage

c) Combined leverage.

0,003 om0 BRoeei T 2,00,000, ¢58 wieeEEed S X 70,000, 2%6 ﬁzi
% 1,00,000 2023 wtdd WBI 3,668.

d'u;m&@:

a) FOPF VBF DR A
b) DT ﬁﬁi

C) 0L A,
a

-
=

5 The initial investment of a project is ¥ 1,00,000 and it generates net cash inflows
of ¥ 50,000, ¥ 40,000, T 30,000 and X 20,000 respectively for four years. 10%

rate of discount. Calculate profitability index.

Year

1

2

3

4

PVat10%

0.909

0.826

0.751

0.683

08> C3penEad T0ows BeaE T 1,00,000 3 BET dFY SN0 LITOP
R3O Ty FRFRERT 50,000, 40,000, ¥ 30,000 F5253 20,000. 00008

30 3633 10. T3 oLP03 BREOTR, &8, T80.

[REND

1

2

3

4

PV at10%

0.909

0.826

0.751

0.683

6. Calculate the future value at the end of 4 years of the following, series of payment
at 9% rate of interest.

¥ 1,000 at the end of first year

% 2,000 at the end of second year
¥ 3,000 at the end of third year
T 4,000 at the end of fourth year.
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83 3N BOL3 TOBECLRY, TSRRF T BRSO, Be8@ 9T WA TRSITT, 4 [RFNY

PORVHONE ST PR T STV FORBDBOWO.
% 1,000 S3250803 SRFE 90309,

% 2,000 20BES0D IRFS 20B T,

% 3,000 000D SR 20T

3 4,000 YR IRFT 90T,

SECTION -C
TN - A

Answer any three questions. Each question carries fourteen marks.

(3)(1 4:42)

7. What is financial management ? Explain the scope and importance of financial

management.

TETTORR NVIF T 0TTER) ? BEITOIT VF DFBOR LY 02 m&%ﬁeﬁ@ DROR.

8. What is dividend policy ? Discuss various forms of dividend.
CRLIDOBT VS DOTITERD ? WV WD mzpaosﬁrfe;;igt SR

9. What is financial planning ? Explain the factors affecting financial plan.
TEFRAT C3RERT DOTIERD ? BEITAS C3REBWFOD BoeS [P 2VeTO SR ES)

DDA

10. The cost of the project is ¥ 50,000. The life of the project is 5 years and following

are the expected cash inflow of the project :

Years 1 2 3 4 5
Net cash inflow ) | 20,000 | 15,000 | 10,000 | 15,000 | 8,000
Present value factors at 10% and 15% are :

Years 1 2 3 4 5
PV at 10% 0.909 0.826 0.751 0.683 0.621
PV at 15% 0.870 0.756 0.658 0.572 0.497

Calculate :
a) NPV

b) IRR.
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2,003 03Re%RN0D dai@ T 50,000. 9533 22608000 5 IRENR, 03RS0 IND W
TOR) FPTOBOST.
[REND 1 2 3 4 g
ad;ﬁ |nwd we¥xesy) () | 20,000 | 15,000 | 10,000 | 15,000 8,000
BRE BPQT T0 368 10 02 33 15 350083,

TREND 1 2 3 4 5
PV at 10% 0.909 0.826 0.751 0.683 0.621
PV at 15% 0.870 0.756 '0.658 0.572 0.497

Sad;d TR m*ae% (NPV) =2 50807 30030 BT (IRR) a’;.l@j’@ T80,

11. A Ltd. company has equity share capital of ¥ 5,00,000 divided in to shares
of ¥ 100 each. It wishes to raise further X 3,00,000 for expansion plans. The
company plans the following financing schemes :

a) All common stock
b) ¥ 1,00,000 in common stock and X 2,00,000 in debt at 10% p.a.
c) All debts at 10% p.a.

d) ¥ 1,00,000 in common stock and X 2,00,000 in preference capital with the
rate of dividend at 8%.

The company’s EBIT are X 1,50,000. The rate of tax is 50%. Determine EPS
in each plan and suggest which plan is suitable ?

WOT) VOB FORVOI WOReDY T233503n T 5,00,000, X 1003 sSooadeiedo mma;

FeTONFINTOZT. FoTAOD VFTT 03RERSMON éﬁ%daodnﬁ % 3,00,0007¢s),

ROTBROET. BOTRCI WOty TN B$B0ReET :

a) QR WRRT, JeTONTY,

b) ¥ 1,00,000 maﬁmdzs ﬁedoﬁfﬁ@ﬂﬁaé_g ¥ 2,00,000 3esz3 100 s ﬁ‘g’h’fﬁ@?ﬂ

C) QR OTZNY, Be&E 10T W& o]

d) ¥ 1,00,000 m=»g Feooned =08y X 2,00,000 333 80 0003w m_ﬁﬁ_eg
3econee).

FoTAOD aaezgg ST (EBIT) T 1,50,000. e3z5003> 301 3 33 50.
%3 3003 ri%ai:dgt 65&@6@. C3RE 0306 RRT Q0T ROT JERD 7




